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#include <stdio.h>
#include <math.h>

int main(void)
{
int deg;
double rad;
l O |

l 0 l

for (deg=0; deg<=360; deg++){
rad=deg+*M_PI/180;
l 0 l

}

l 0 |

return 0;
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#include <stdio.h>

int kaijyo(int n);

J/=———— 00000

int main(void)

{

int nx, result;

scanf (”%d” , &nx); // 0o0Qono
result=kaijyo (nx); // 00000
printf (?%d!'=%d\n” , nx, result); // 000000
return O0;
}
//—————= 000000000 (00000)=========
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#include <stdio.h>
int main(void)
typedef struct{
char captal [20];
double population;

}country;

country japan={”"Tokyo” , 1.2};
country sxhome;

home=&japan ;

printf(” captal:%s\n” ;home. captal );

return 0;

obd 4. 00000boooooon

#include <stdio.h>
#include <math.h>

int main(void)

{ double (*COS)(double);
COS=sin ;
printf (?COS=%f\n” ,COS(0));

return 0;




2 JoOooogon

2.1 OO
oooo s, 0000doooooooooon
So=0
Sn :n2+5n—1

ooooooobooooooooooobooooooooon
gooooo

e JOODOOOODOODODO
e 00D nODODOODOODODOODOOO

ooooos,oooooooog?

22 2000000

ob1o0b0obo0oboobo 200000000000000
obooooobobboboboooobooooooogo

e JOODOOOODOODODO

e 0D UODODODLOOOO0ODLDOOODLOOOOO



